Al A

= o
SA: ASTIHD
2o URUED ENFDSH(FEUN AN/ NALEA)

ool NNBH MUIA B4 CEER-E
SRR S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” HDE2
A=K & 6,416,263 4,043,540 2,372,723

= 2,324,083
& 279,152
Al 3,813,028
NN EXNHESHZELXGML/ XN SLUZAI) 909,071 779,335 129,736
= 162,655
Al 746,416
A M| A Skal 79,200 110,845 A31,645
= 20,000
Al 59,200
NEZAIXIDF EO} 40,000 41,944 AN1,944
= 20,000
Al 20,000
201 LB AH| 37,838 40,000 A2, 112
= 18,944
Al 18,944
01 AFR22tel| 35,228 37,261 N2,033
= 17,614
Al 17,614
S0l A 35,228 37,261 N2,033
= 17,614
Al 17,614
OME XD} HEeE
45,8004 +23, 8002 X /48 22,710
= 11,355
Al 11,355
OoA & 0|2 HETE
45,8002 *100Z! XI*50% 2,290
= 1,145
Al 1,145
OE Y ASEH B2 4QE 1Y
527,000 & x4 2,108
= 1,054
Al 1,054
O2A & 0|QndE =82 S48 Xﬂ’“
0,000 x 144 2 +23| 1,960
= 930
Al 980
OSSAIIABASIRS HASL
70,0002 x 112 +83] 6,160
= 3,080
Al 3,080
02 2324t 2,660 2,739 AT79
= 1,330
Al 1,330




SN AEED

M JEHFEN EXNEE iP( ELXGMNL/NSELCAl
&2l NEHE AHlA sha (ct9: &2
SA - B S9(3) - NISAY - BaS S S b D=2
S0 & 2,660 2,739 AT79
= 1,330
Al 1,330
OMNESARIIIEOIA HRH A=A B
M3l 260,000 14 260
= 130
Al 130
OZAIXIHE L AZ2HE|AIAE R
25 200,000&*12& 2,400
= 1,200
Al 1,200
202 04| 2,112 1,944 168
= 1,056
Al 1,056
01 =LHOH] 2,112 1,944 168
= 1,056
Al 1,056
20 & 2,112 1,944 168
= 1,056
Al 1,056
OMNESARIIF SRF&
88,0003 *2H x2 2 +x63] 2,112
= 1,056
Al 1,056
EXze| & 24 5,642 5,666 N24
201 LEt23d| 4,114 2,680 1,434
01 At222teltl 3,832 2,400 1,432
S0 &t 3,832 2,400 1,432
ONLREYES SSAIEBRIL HE =2
45,8002 *40Z X| 1,832
OgHlg MM =2
1,000,000& x2AH 2,000
02 2323l 282 280
S0 &t 282 280
ORSAHHZR HARHHAHY SHISI I
141,000 =2H 282
202 04| 528 486 42
01 =LHOIH] 528 486 4?2
20 & 528 486 42
O34t Helidld HRFA
88,0003 x2H x33] 528
203 SR F&| 1,000 0 1,000
03 AMEFRHRF=AIY| 1,000 0 1,000
=0 A 1,000 0 1,000
OEXN 2L & 24 HRFE 1,000
PNESFSP 7,032 25,180 A18,148




=N

ral-PNESIN

B RUEY ENEDHBEUNANL/ N ALTA)
Cigl: NMSE AHlA BHa (cr9l: &g
S - EHY - BR(31) - NSAY - BaS S SR b=
201 LEt23d| 5,800 23,980 A18,180
01 AtR22teld| 5,800 23,980 18,180
S0 &t 5,800 23,980 18,180
OXNXFA AP ADE 7
200,000& x4 800
OXNHELIA™e| =S|
500,000 =102 X| 5,000
202 04| 1,232 1,200 32
01 =LHOH] 1,232 1,200 32
20 & 1,232 1,200 32
OXEOIAK 2 HRFX
88,0002 x2H x73] 1,232
A& L EXNE 26,526 38,055 211,529
201 et H| 22,302 33,943 211,641
01 AtR22teltl 21,825 33,625 211,800
=0 A 21,825 33,625 211,800
OXN&EAF ADE 2] 500,000:& *2CH 1,000
OER XNEIISS Mitst 20,000
OSHEH ds3A 275,000 & *3CH 825
02 =323l 477 318 159
204 & 477 318 159
OXE=SZFL AL S2EHAEHA S|
38| 159,000 32! 477
202 O4H| 4,224 4,112 112
NET 4,224 4112 12
=20 A 4,224 4,112 12
OX=EB2 Y2
88,0003 x2H x2 2 +x63] 2,112
OXNE=Z ZAL Y EXI0IS SHXIZA
88,0002 x2ZH +123] 2,112
NESEES 482,023 282,476 199,547
= 142,655
Al 339,368
K= THZ AFARS (REA) 339,368 254,908 84,460
201 dEt2AH| 37,080 27,700 9,380
01 AtR2teldl 31,080 22,900 8,180
20 & 31,080 22,900 8,180
ONEWEARILS, FHZEAAS 4
0,0002x11H*43] 3,080
OXNETHZAL EEEE 7Y 1,000
OXETHZAIAIY ZE2ZF 2FEI =2
45,0003 *300& X|*2JH | 2 27,000
02 2323l 6,000 4,800 1,200
S0 &t 6,000 4,800 1,200
OXNEMEZAI RERS 400,000 *153] 6,000
202 04| 2,288 2,208 80




SA: ASTIHD
o RHED ENEDHZELTSNL/NALEA)
ool XX (e L
SRR S(B) - NIRAR - BHAS (ggj) @%%’Lﬁ‘” HDE2
01 2ol 2,288 2,208 80
=01 A 2,288 2,208 80
OXZEMEA So/A 27 2 HAHFO
88,000& x2H x2 U x4 3| 1,408
OXNEMEA SXEE =
88,000 x2H x53| 830
301 LEE M= 300,000 225,000 75,000
14 JIEIE A2 300,000 225,000 75,000
S0 A 300,000 225,000 75,000
OXNETHEAANY ZE2
1,500, 000& *200&! X| 300,000
INESHN ENYNINRS 142,655 27,568 115,087
= 142,655
201 LEr2AH| 6,793 2,412 4,381
= 6,793
01 AF22telb| 6,793 2,412 4,381
= 6,793
=0 A 6,793 2,412 4,381
= 6,793
OXZETHZEAIAIE 2d9d| 6,793
= 6,793
308 AXISHHISOIA 135,862 25,156 110,706
= 135,862
11 2|2 SHUSHE AR AEAIZHI 135,862 25,156 110,706
= 135,862
S0 A 135,862 25,156 110,706
= 135,862
OXETHEAL =& 135,862
= 135,862
22t A&} 347,848 386,014 N\38, 166
EEHFAAIY 134,578 127,218 7,360
201 LB AH| 10,035 12,035 22,000
01 AtR2teldl 8,035 12,035 A4,000
S0 A 8,035 12,035 24,000
OE2¥gFa 8 4,000
o2 FTA EEZNE
4,000&*1,0000H 4,000
OZ2EFALAS| HAST
70,0002 x8H x 13| 560
OEZHFEA HPMAIRI|D| A2 32
250,000 x4 5 %13 1,000
OEEINLAT QlgtX| 2Ll
165,000 152 2,475
02 2324l 2,000 2,000
=0 A 2,000 2,000
OEEINLAT Sl 2,000




M ASTED
B RUEY ENEPsHBEUNANL/ N ALTA)
&l Z2t HES (chel &2
S - B S9(3H) - NSAY - BES S SR HDS2
202 O4H| 1,584 1,458 126
01 =LHO4b] 1,584 1,458 126
S0 &t 1,584 1,458 126
CTERHEFAANY HRFA
88,0003 x2H x32 *33] 1,584
308 AtXIEHMISO0IH 51,497 23,149 28,348
11 SI| 2SO CHSHE A X AEAIS B 51,497 23,149 28,348
20 & 51,497 23,149 28,348
Ogr=A 25 & FAFBIEE 7A
22| 14,300
OKAISTEAIOH 725 & s AlZel 37,197
401 AIEHIZ2UIYI 71,462 90,576 A19,114
01 Al&H| 71,462 90,576 219,114
20 & 71,462 90,576 A19,114
OEZHFA CHHUAIEAZ RX22] 71,462
oAESHSE HH| 7,000 *789H4 5,523
olED NEE HSHSE AX
447,000 *2304 10,281
O AIE2FAT &X] 48,0003 *200H 9%60
o Z2HFA CHHAIAZ A E HEEX
305,000 *33J4 10,065
o Z2HFA OHHAIAZ LRI EA 43,273
oAZHSE HIE(AIR)
6,000 *11074 660
oAZEHS T AIEX 2
700,000 +12 700
g HE & &l 3,138 3,026 112
201 et23H| 1,730 1,730
01 AtS2teltl 1,730 1,730
=0 A 1,730 1,730
OXNEEA EHESH ABE 72 520
OXYEM ME 510
OXNgR2s 3o&s 5
70,0003 x5 »23] 700
202 04| 704 648 56
01 =LHOH] 704 648 56
20 & 704 648 56
OoXgge =& 88,0003 x2H +23|x2& 704
301 Let8EZ 704 648 56
11 HALAHIXI RS2 704 648 56
20 & 704 648 56
OXNYd XY NI EAF Y F0I9/A4
=] 704
SUHBEAABSE 2. 29 80,359 154,485 AT4,126
201 et2AH| 79,303 34,913 44,390
01 At22teltl 1,040 1,040 0
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M ASTED
A NN EXNFEHIELXGIHL/RSL Al
e 32t B2t (chel &2
S - EHY - BR(31) - NSAY - BaS S SR b=
OFSUESSRAAE ATENH =
Xl2tel 12,246
OEXOI2HE=IA ARH A B
M3l 318
OIHKIEE AN (Z2ELXGINE/RSLEZAl) 225,446 10,368 215,078
SAIEE A 225,446 10,368 215,078
SAIEE A 211,846 8,568 203,278
201 et H| 4,790 2,596 2,194
01 AtR22teltl 4,790 2,596 2,194
=0 A 4,790 2,596 2,194
OfI2s 28 S0 HE
70,0003 %33 210
O%lIds 29 82 7¢ 500
O &g &
70,0002 x8H x33] 1,680
O 223 A0
100,000 *8H *33] 2,400
202 04| 1,056 972 84
01 2] 1,056 972 84
=0 & 1,056 972 84
OTAZR Qo=
88,000 2H x3 23| 1,056
203 SR F=&| 6,000 5,000 1,000
03 AMEFRHRFAIY| 6,000 5,000 1,000
=04l 6,000 5,000 1,000
OZAZ2HEH =& 5,000
OO0IHXIEE TAIZ2 LR =X 1,000
207 HAFIHEH| 200,000 0 200,000
01 22| 200,000 0 200,000
20 & 200,000 0 200,000
OoZ&AHE =¥ 200,000
SSAEE 22 13,600 1,800 11,800
201 dEt2AH| 3,600 1,800 1,800
02 323l 3,600 1,800 1,800
20 & 3,600 1,800 1,800
OAZH 82 M3
300,000 128 3,600
401 AIEBIZ2UiYI 10,000 0 10,000
01 Al&HI 10,000 0 10,000
=0 A 10,000 0 10,000
OANZH X882 R+ 10,000
et ZHEFEAL(ZEL X LML/ XSELTAl) 1,004,9% 503,944 501,052
SAIZ=AHEZE Eb| 479,100 475,060 4,040
BI& EUIAY 100,900 100,000 00
401 AIEHIZLS0IYI 100,900 100,000 00
01 Al&H| 100,000 100,000 0
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M ASTED
M MASES MEHH XA (ASISX/IIZMESEH)
ool 2oDIEME 23 LR
S - B S9(3H) - NSAY - BES S SR HDS2
OFHZB0(1,300) 2,005,368
= 1,604,292
& 200,538
Al 200,538
403 XtXISHMSAH=01H 658,044 411,777 246,267
= 526,436
& 65,804
Al 65,804
02 SI|2SoCHet 2N EAIS ] 658,044 411,777 246,267
= 526,436
& 65,804
Al 65,804
S0j &t 658,044 41,777 246,267
= 526,436
& 65,804
Al 65,804
Ox=&K K20 (9BAITH) 658,044
= 526,436
& 65,804
Al 65,804
SHE ZO{oI=8 At 11,400 7,600 3,800
= 5,700
& 1,710
Al 3,990
401 AlEHIL 0] 11,400 7,600 3,800
= 5,700
= 1,710
Al 3,990
01 A&t 11,400 7,600 3,800
= 5,700
= 1,710
Al 3,990
20 & 11,400 7,600 3,800
= 5,700
& 1,710
Al 3,990
O=s0E HOHeI=8 JHZALS 11,400
= 5,700
& 1,710
Al 3,990
ZRAEE ERA =HS0H X3 12,000 76,000 264,000
== 3,600
Al 8,400




SN AR
B HASS MBOE N(ANI=XIIZMEDE)
& D | =M 2 (ct9: &2
SA - B O9(3H) - NISAY - BES S S HIB=2
401 A& BIZL2CHYI 12,000 76,000 264,000
& 3,600
Al 8,400
01 Al&H| 12,000 76,000 264,000
== 3,600
Al 8,400
201 & 12,000 76,000 A64,000
& 3,600
Al 8,400
OZATE 62X F=H30H XA 12,000
& 3,600
Al 8,400
HEFAM SAl SEEXA AL 50,000 92,800 A42,800
= 25,000
& 7,500
Al 17,500
301 Let8dZ 50,000 92,800 A42,800
= 25,000
& 7,500
Al 17,500
01 AIBIBE X432 (2 022 50,000 92,800 A42,800
= 25,000
& 7,500
Al 17,500
204 & 50,000 92,800 A42,800
= 25,000
& 7,500
Al 17,500
OFUESEAM stAl SEX AL 50,000
= 25,000
== 7,500
Al 17,500
HASAUHES= 101,056 0 101,056
202 O4H| 1,056 0 1,056
01 =W 1,056 0 1,056
20i & 1,056 0 1,056
OgtiEsza 2otd s8Ed
88,000 x2H 63| 1,056
51 8X3 100,000 100,000
01 2I2tEXt= 100,000 100,000
201 & 100,000 100,000
OR=H= It72 AUEE2
10,000,000 100t 100,000




AT D
B FEON SX3

ol
DRHE MHIA &

oo

o
B
£l
0

S - HY . O9(3) - HISAY - BA= S S =2t
BN SX2 0IXNEE X (&g - SAIIGLUEXI/ 114,000 100,000 14,000
ME - NE3
SO X2 0IXEd K& 114,000 100,000 14,000
FEINE SN2 0IXNEA XA 114,000 100,000 14,000
307 eIZ2to|™ 114,000 100,000 14,000
08 OIXtENS 114,000 100,000 14,000
204 & 114,000 100,000 14,000
O8I 8X=2 OIXNEH 114,000
HY2IZHI(ASXED) (DIEHDIEL 39,040 120,604 A81,564
=34| 39,040 37,360 1,680
J|1E23H| 39,040 37,360 1,680
201 Let2IH| 31,680 30,720 960
01 AS2teltl 26,880 26,880
201 & 26,880 26,880
ORAM2Z JI223H| 320,000 =123 3,840
OANREE FY(SAX S
200,000 =123 2,400
O=SAL| gxt= 220,000 =123 2,640
OCHEEAMRID L ARE 2
300,000& *x10CH*23] 6,000
O=&| 8,000 x25H 52 x 12& 12,000
02 S=23| 4,800 3,840 960
20/ & 4,800 3,840 960
ORERZ 400,000 x 128 4,800
202 04dl 1,560 1,840 2280
01 =W 1,560 1,840 A280
20l & 1,560 1,840 2280
OHIAZ SR ZHH0HI 20,0003 x26H *33] 1,560
203 FRF=&H| 4,800 4,800
04 EN2IHFFAL 4,800 4,800
20/ & 4,800 4,800
ORNSIHRFAI 400,000 x12& 4,800
405 Kok SHI 1,000 0 1,000
01 Xt 2 SFSHI 1,000 0 1,000
20i & 1,000 0 1,000
O2AM M 2 1,000
HRES(ASXEHI) (ZELXSINLY/KSLEAI) 1,285,842 0 1,285,842
EHHXIES(ASXH ) 1,285,842 0 1,285,842
LHEHHXIS(HASXIE D) 1,285,842 0 1,285,842
701 JIEtel HSEHES 1,276,600 0 1,276,600
01 JIEt3l HINMEZ 1,276,600 0 1,276,600
20l & 1,276,600 0 1,276,600
O8NS ELE3H d&E= 1,276,600
m?IIsNE3 9,242 0 9,242




e
B3 RS (ASNNI) (IELXSHL/ X SLEA)
ool LIS DfRhXIE (A KR D)

=3 (2ol 2@
IOH SLE] }OH
S - B S(SH) - NISAY - BAS i gl sies HIDS2

(BEN) (1ZH)

ISHES 9,242 0 9,242
SHS0IA 9,242 0 9,242




